
BATTLE REPORT: HELLESPONT STANDOFF DISASTER 

Sinecea Planetary Defense Forces 

 

 

 

 

 

 

 

Unknown Invaders 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

Name of Unit Class ATTR DEF ATK DX Special 
5th Old Guard Margravate Regulars 4 2 1 D3  
1st Archer Contingent Margravate Regulars 4 2 1 D3  
Sinecea PDF A1 Militia 2 1 1 D2  
Sinecea PDF A2 Militia 2 1 1 D2  
Sinecea Special PDF U1 Commando 1 1 1 D3 Marines, Compact 

Name of Unit Class ATTR DEF ATK DX Special 
RP-101 Prefabs 

1 1 1 D3 
Compact, Robotic, 
Remote Control 

RP-102 Prefabs 

1 1 1 D3 
Compact, Robotic, 
Remote Control 

RP-103 Prefabs 

1 1 1 D3 
Compact, Robotic, 
Remote Control 

RP-104 Prefabs 

1 1 1 D3 
Compact, Robotic, 
Remote Control 

Red Brigade Clonetroopers 3 2 2 D3 Marines, Shock 



3005.1 :  

Unknown Forces Invade Sinceca 

Damage 

RP-104 

ATR: 2/2  DEF:1  ATK:1  DX:D2 

Red Brigade 
ATR: 3/3  DEF:2  ATK:2  DX:D3 

 

RP-103 

ATR: 2/2  DEF:1  ATK:1  DX:D2 

RP-102 

ATR: 2/2  DEF:1  ATK:1  

DX:D2 

RP-101 

ATR: 2/2  DEF:1  ATK:1  DX:D2 

5th Old Guard 

ATR: 4/4  DEF:2  ATK:1  DX:D3 

1st Archer Contingent 

ATR: 4/4  DEF:2  ATK:1  DX:D3 

Sineca PDF A1 

ATR: 2/2  DEF:1  ATK:1  DX:D1 
Sineca PDF A2 

ATR: 2/2  DEF:1  ATK:1  DX:D1 

Sineca Special Command 

ATR: 1/1  DEF:1  ATK:1  DX:D3 

Engagements 
Unknown Forces 

RP-101 and RP 102 —> Sineca PDF A1 

RP-104, RP-103, and Red Brigade —> 1st Archer Cont. 

 

Sinceca Planetary Defense Forces 

5th Old Guard —> RP-102 

Sincea PDF A1 and A2 —> RP-104 

1st Archer Cont. and Sineca Sp. Forces —> Red Brigade 

 

Results: 

RP-101 and RP 102 —> Sineca PDF A1 

(1 + 2 +  0 (Assault) + 1 (Suppt) vs 1 + 2 + 1 (Dugin) = 0 ATR 

 

Red Brigade, RP-104 and RP 104 —> 1st Archer Cont 

2 + 2 + ( 0 Marines) + 2 (Suppt) vs  2  – 1 (Shock) + 1 + 1 (Dugin) = +3 ATR 

 

5th Old Guard  —>  RP 102 

1 + 3 vs 1 + 1 =  +2 ATR 

 

Sineca PDF A1 and A2  —>  RP 104 

1+1+1(Suppt)  vs 1 + 2 =  +0 ATR 

 

1st Archer Cont and Sineca Special Forces  —>  Red Brigade 

1+2+1(Suppt)  vs 2 +  3  =  -1 ATR 


